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Al. -
2. Yes.
3. Yes.
4. -

5. -

n

6. (a) Binomial (y

)py(l — p)™7? (b) Beta distribution with @« = 18; g = 103.
7.—

_ 2p
8.(b)y = ZIHW.

9.(a) Pryy = P(1 — a(h — 2)) — alg — ©); P = =2 + (P, = 2) (1 - a(h — 2))'; (b)
systemis stableifz < h <z + 2/a.

17 _ f”(x)
10.9"(f@) = = gy

B11.(a) () Y(1 = b) +r(c +a) =I°+ G; mY — hr = MS — MY; (ii) Y = 300; r = 50.

12.(b) ()r =1z ==(")ir=3v=3(})
13.-
14. (a) L = ——— e~ Li0i-xiB)*/20¢; () f = (XTX)"2XTy; (d) var(B) = 62(X"X)~* on

=)

the leading diagonal, and zero off it.

15. (a) Marshallian demands = (p—z,w); Hicksian demands = (&,u —In (&)); expenditure
b1 D2 D1 D1

function =p,(u —In (E) + 1); indirect utility = In (%) + y;jz; (c)-1; (d) (1,#) (possibly

with a minus sign on the front, depending on how you define elasticity of demand).

16. (a) Iy = (?)2; (b) Iy = (a — m)?/8; will make and sell product if

V2(a — ¢) > a — m; yes; (c) requires ¢ > m, which is true.
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Al. (c) all 2" order polynomials.

2.(a) x; = Tona

3. -

4. (b) zero.

5.-2.
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6. (a) —; (b) “its time” is
(a) % (b) %

7.—
8. (a) (71711) a™(1l—a)" ™ b)1-10-a)™
9.-

B10. (a) @ # 3 or — 2, f = anything; (b) Same pivots, but not necessarily same null space.

mi—ki—-b1y  ai aj1—ng My—ki-b1y
.. my—Kk,—b azp—M a my—Kk,—b
11. (b) (ii) by Cramer: In(P,) = Zallinlzy 2—2,In(P,) = = a 2.
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My=Kz=byy—az1In(1+5)  azz2—n; aze ~ Mp—ky=byy—aziIn(1+5)

(“l) ln(Pl) = aj1—nq aqp | 7 ln(PZ) = aj1—mnq aqz | ;
az1 az2—Mp az1 Az2—My

(iv) I’'m unconvinced one can say without knowing the a;;.

a(1-p")
1-B

_pt .
+ UoBt, converges iff B < 1; (b) U, = (=) | UoBt + Xl Ble,;.

12. (a) Ut = 1-8

1 1 3
13.(a)p = 52?:1 a;, S = E(Z?:l a? — ™ Qrhia)®) + X mg;

byp=2,8= lZ?ﬂ a? + Y, m; difference is 3 var(ay).
2 8 8

97902 5 97907,

14-@ () 7998 95 2093

(i) 95/1998; (iii) 95.46% (iv) “posterior odds” now 47.5.

15. (a) %; (b) By = where r=number of individuals with X < 8 and X; is the

-
(T, x;)+8(n-1)
data value for any individual with X < 8; estimated mean unemployment rate is 1/6,,;;
. . . . . 62
(ii) assuming this means asymptotic variance, —



